POLITICAL BELIEFS & IDEOLOGY

SURVEY #3













Agree or

I.  ECONOMIC ISSUES = ___________________





Disagree
1)  The government should increase the minimum wage.

2)  People should work to purchase their own health insurance.  The

government should not be in the business of providing it.

3)  Given the unstable situation in the Middle East, the government should


allow more oil exploration and drilling off our coasts and in Alaska.

4)  During recessionary times, the government should be prepared to use


taxpayer money to bail-out large corporations rather than letting

them go bankrupt.
5)  The age at which people begin receiving Social Security and Medicare

benefits should be increased.

6)  The government should cover the cost of community college for all


college students who maintain at least a 2.5 GPA. 
7)  Unemployment benefits encourage people to remain unemployed.  The


government shouldn’t pay people not to work.

II.  PERSONAL & PUBLIC CONDUCT = _________________

1)  Much like alcohol, marijuana should be legal for recreational purposes.

2)  Public schools should enforce dress codes to limit the wearing of clothing


which is considered to be a distraction to learning.
3)  Abortions should be outlawed except in cases of rape, incest or when


the mother’s life is in danger.














Agree or














Disagree

4)  Doctors should never be allowed to assist people in killing themselves.
5)  Teenagers should be admitted to “R” rated movies at age 14 without having

to be accompanied by an adult.
6)  Gun control laws should be strengthened, not weakened.
7)  The United States should abolish the use of the death penalty.

III.  CIVIL RIGHTS = ____________________

1)  Universities should put considerable effort into recruiting, admitting and


retaining students from under-represented races.

2)  Transgender individuals should not be allowed to serve in our armed forces.

3)  Undocumented immigrants who live and work in the United States should be

eligible to apply for driver’s licenses.
4)  Government agencies like police and fire departments should discontinue


affirmative action programs which give priority in hiring to minorities and


women.

5)  Same-sex marriages should be legal.
6)  Undocumented immigrants who have children who are American citizens should

not be subject to deportation.

7)  Showing a government-issued picture ID should be required when people go

to a polling place to vote.






Agree or

IV.  FOREIGN POLICY = __________________





Disagree

1)  American military action to try and end the famine in Somalia in the 1990s

was a waste of American lives and resources.  We should not get involved

in countries where our interests are not directly threatened.

2)  Our military interventions in Bosnia and Kosovo in the 1990s were necessary

and justified given the “ethnic cleansing” policies of the Serbs.

3)  Foreign governments such as the Taliban regime in Afghanistan which harbor

terrorists like Osama bin Laden should be eliminated by the United States –

even if it means sending in an American military occupation force. 
4)  Our troops should remain in Iraq and Syria indefinitely to continue addressing

the ISIS threat.
5)  We should use only economic sanctions and not military force to punish


Russia when it takes territory from its neighbors like Georgia, the Ukraine


and the Baltic states.


6)  The development of nuclear weapons by countries like Iran and North Korea

is crucial enough to our national security we should consider using our


armed forces to prevent it.
7)  The United States should continue the aggressive use of drone attacks to
target and eliminate terrorist suspects around the globe.
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L = Liberal; C = Conservative
I = Interventionist; N = Non-Interventionist

